P2/ ARz (dance), BITHIPR 25, AELFR 512M, 100 43

[ R ]

A KAL) *n A B X 5K BN T B —A —J64H (u,v)R 78 (0<=u<=L,1<=v<=n).
Xk A R B, 6T AR E AT Al vD)u2,v2), TR ul<u2, WMl vDEI2,v2)— 3t s
WIVI[V215ANE 3, 4R ul>=u2 WAL .

H R e Tk B b By — 3R i . A RAIGAE TZ%A T BE  T0A(0,%) -

AR EE T B—2, BRSHIARTT IR ERE — & BBk E F — M. A% AR
BT IEBE SR (Wn] LA B A D . MBNE 4N L TS AT 1R, BRI S
A,

R ERAFIER, BET m P, ARSI RIS ILs TR — T8 PN i MuiEN
B iSRRI,

R T e IERE k Al y (l<=y<=n), STTFRA t (0<=t<k), KA LRI (BOsHKE
N m) 2 mmod k=t, H S5 IETE T AAFREE 4k y TS ?

WS B AN A 2 SCN BT E (m) ANRIEE AR R — e E aA

fiy H R 5 ) p U

(R4

JEAZ T LA 44N dance.cpp/c/pas.
U]

B NS 4474 dance.in.

B AT A R BEIT A n kL x,y,pe

Ko AT, BATHE o MUERKREITHEBLE, 56 TR N EERR wiillj]
(€252

1 S 44 4 dance.out.
WO kA7, BT — MR B RN p DU 45
N\ F R 1]
dance.in dance.out
22311998244353 16
21 18
10
[REfpIfERE 1]

t=0:

LERRKIE N0, T RECNL.

2BEKE N2, —HAHNEBGE
(0,1)->(1,1)->(2,1) %42 AW [1]*w[1][1]=45%
(0,1)->(1,1)->(3,1) =M A AW[L][1]*w[1][1]=4%
(0,1)->(2,1)->(3,1) =M A AW[L][1]*w[1][1]=4%%
(0,1)->(1,2)->(2,1) = A A W[1][2]*w[2][1]=1%
(0,1)->(1,2)->(3,1) = FAW[1][2]*w[2][1]=1%
(0,1)->(2,2)->(3,1) = A A W[1][2]*w[2][1]=1%
BRI N1+4+4+4+1+1+1=16



t=1.

LERRKIE N, —Ha32RkEkE
(0,1)->(1,1) =R A wW[L][1]=2%
(0,1)->(2,1) =12 A wW[1][1]=2%
(0,1)->(3,1) %2 A wW[1][1]=2%

2. MK IE NS, —HAA3REE
(0,1)->(1,1)->(2,1)->(3,1) %42 A wL][1]*w[1][1]*w[1][1]=8%
(0,1)->(1,1)->(2,2)->(3,1) %12 A wL][1]*w[1][2]*w[2][1]=2%
(0,1)->(1,2)->(2,1)->(3,1) Z 1= Aw[L][2]*w[2][1]*wW[1][1]=2%

B N2+2+2+48+2+2=18

A\ HEp2]
dance.in dance.out
34100 13998244353 506551216
111 528858062
111 469849094
111 818871911
[H#EEE ]

MR A51,2:  L<=100000

MR A3 n=1,w[1][1]=1, ki) K5 R 7 2
MR AT4:  n=1 k&K H K+ A2

MR A5 n=1,w[1][1]=1

MR A6: n=1

AR 557,80 KA KT R 1 A2

X T A
pA—/ N $L,10"8<p<2"30
1<=n<=3
1<=x<=n
l<=y<=n
o<=w[i][jl<p
1<=k<=65536, kp-1HI1Z1%L
1<=L<=10"8

[ %< ]

X Fe++iEF:  g++ -0 dance dance.cpp —Im

XfFciEE:  gee -o dance dance.c —Im

Xf Fpascalifi 5 :  fpc dance.pas



